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A1. Fill in the Blanks          (1  5) 

i. 10 millimetres. 

ii. 100 centimetres. 

iii. Kilometre 

iv. 0 

v. 94  

A2. Tick the correct answer        (1  5) 

1. d) Scale 

2. b) 1000 

    

3.    b) 30 

 

4.    a) ×       

5.   c) 36m      

B1. Do as directed.         (1  5) 

i)9,702 

ii) 3200 

iii) 174 

iv) 68 

v) 350m 

 



 

B2. Answer the followings;        (1  5) 

i) Laser range finder, Odometre 

ii) Inch, foot, metre, kilometre (any two) 

iii) 192 students. 

iv) 180m 

v) Rs. 800 

C1. Find the following:         (2 5) 

a) Product  of 12  28 = 336 

i) halving and doubling method (give marks for correct technique) 

ii) using the nearest multiple (give marks for correct technique) 

 

b)  

i) 1234321 

ii) 123454321 

 

c) i) 6,220 and 8,455 

ii) 5,205 and 7,095 

d) 40,247km < 40,372km  < 47340km < 73404km 

 

e)  

i) 456 cm  < 5m 

ii) 234 cm = 134 cm + 1m 

 

D1. Solve the following.          (2  5) 

a)  

i) Total walked in a day = 8km 100m 

ii) Weekly distance = 56.7km 

b)  

i) Rs. 5750 

ii) Rs 6440- Rs. 5750 = Rs 690 

 



c)  

i) 5 coins of Rs5 + 6 coins of Rs 2 + 1 coin of Rs1 

ii) ii) 4 coins of Rs5 + 8 coins of Rs 2 + 2 coin of Rs1 

 

d)  

i) 8cm 3mm (can be measured using a scale) 

ii) 36mm (can be measured using a scale) 

 

e)  

 i) Total rows 12+17+1 = 30 

ii) Total people : 30 × (18 +22 + 1) =1230 

 


